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PART | - MCQ

Q1) The graph of p(x) = x?(x+2)% —(x+2)? is below the x —axis on the interval:

a)(-21) b)(-11) ¢) (-2,-1) d)(01) e (-20)

Q2) The Polynomial p(x)=x*—4x—4 has a zero between:

a)—land 0 b)Oand1 c)3and 4 d)—3and-2 e)2and 3

Q3) The sum of all non-integer rational zeros of the polynomial p(x)=4x"* + 4x® +23x* —x -6
a)0 b)1 0)-1 d)% e)—%

Q4) The polynomial p(x) of lowest degree with real coefficients that has zeros i (multiplicity 2), and 3 is

a) p(x)=x>-3x*+2x>-6x*+x-3
b) p(x)=x>-3x*+2x>-6x"-x-3
c) p(x)=x>-3x*-2x>+6x*+x-3
d) p(x)=x°+3x*+2x>-6x*-x-3
e) p(x)=x>+3x*+2x* +6x° +x-3

Q5) If —1 isazero of multiplicity 2 of p(x) =x®+ Ax+B then A+B=
a)0 b)2 c)4 d)-5 e)—2
Q6) If (x—i) isa factor of P(x) = x* —2x® + 2x? —2x +1, then the NUMBER of x —intercepts of p(x) is

a) o0 b)2 c) 3 d)1 e) 4

Q7) If f 1(x)=2++/x—1, xe[L,o), then f(4) is equal to:

a)6 b)4 c)5 d)8 e)9

Q8) The largest negative integer that is a lower bound for the real zeros of f(x) = x> +7x* —x+3 is:

a)-1 b) -5 c)-4 d) -2 e) — 3



PART I | -WRITTEN

Q1) Given the function f(x)=—-x?+4x, x<2.

a) Find f(x).

b) State the domain and range of f ™(x)

Q2) The far left and far right behavior of the graph of the polynomial
P(x) = —2x(x+3)(x =1D*(2-x)°®

Q3) What is the number of negative real zeros of the polynomial P(x) =2x> —x* —3x+5

Q4) If x=-2 isazero with multiplicity 2 of the polynomial P(x) = 3x* +6x> —6x*> + Ax+ B , then find the
value of A and B.

Q5) Find the equation of the polynomial P(x) of degree 4 that has the graph given below given below.
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Q6) If P(x) =2x* +3x® +2x*> —3x—4, then
a) determine the x — intercept(s) of the graph of P.
b) write P(x)in the factored from.

c) determine where the graph of P will cross the x — axis and where the graph will intersect but
does not cross the x — axis.



